MARZEC

DZIEN| GODZINA |TYDZIEN PROWADZACY
3141 5 (6|10 11| 12 |13| 17| 18 | 19| 20 | 24 |25]|26|27(31
. |91511.00—2 W ! 2
] TP .. . W 1 2
S ™ drinz. P. Synowiec W 1 >
~ [11.15-13.0
8 TP W 1 2
2 |i31sas.00—0 1 w 1 2
4 TP drinz. P. Piechota w 1 2
17.05-18.45 TN W 1 2
w TN W 1 2
°o= 9.15-11.00 drinz. E. Wréblewska
o TP w 1
= |11.15-13.000 TN drinz. P. Piechota W 1 2
9.15-11.00 -_II-_l: w L 1 Z
< m— drinz. E. Wrdéblewska - 7 5
8 l11.15-13.0
5 TP W 1
13.15-15.0 L\ drinz. P. Piechota W 1 2
TP W 1
7.30-9.00 -_rr,: w L 1 Z
™ drinz. D. tuszkiewicz W 1 >
9.15-11.00
x TP W 1
-
% 111.15-13.00— W 1 2
= TP W 1
N
Q TN W 1 2
13.15-15.0 inz. E. 3
P drinz. E. Wréblewska W 1
TN W 1 2
15.15-16.55
TP W 1




KWIECIEN

DZIEN| GODZINA |TYDZIEN PROWADZACY
10 [14| 15 | 16 | 23 | 24 | 28 |29]30
TN
+ |9.15-11.00
x TP - . 3 4
- ™ dr inz. P. Synowiec
~ I11.15-13.0
a TP 3 4
= ™™
2
13.15-15.0
o TP |drinz. P. Piechota 3 4
17.05-18.45 TN
o TN . ,
°O= 9.15-11.00 drinz. E. Wréblewska
o TP 3 4
= |11.15-13.000 TN |drinz. P. Piechota
9.15-11.00 1': 3 g 2
<Dn: = drinz. E. Wréblewska 7
o |11.15-13.0
& TP 3 4
%)
13.15-15.0 L dr inz. P. Piechota 4
TP 3 4
7.30-9.00 ?: - 4
™ drinz. D. tuszkiewicz 3 2
o [9-15-11.00
i TP
% |11.15-13.00—~ - 4
= TP
o TN 3 4
13.15-15.0 P drinz. E. Wrdblewska
15.15-16.55 N < 4

TP




MAJ

DZIEN| GODZINA |TYDZIEN PROWADZACY
121 13 |1 14 |19| 20| 21| 22 | 26 | 27 |28]|29
TN
« |9:15-11.00 >
x TP - . 5 6
- ™ dr inz. P. Synowiec c
~ 111.15-13.0
[a) TP 5 6
w N 5
2
13.15-15.0
o TP |drinz. P. Piechota 5 6
17.05-18.45 TN 5
w N . , 5
°O= 9.15-11.00 drinz. E. Wréblewska
o TP 5 6
= [11.15-13.000 TN |drinz. P. Piechota 5
9.15-11.00 -I_l—_I: S £ 5
< drinz. E. Wrdéblewska
[a) TN 6
o [11.15-13.0
o TP 5 6
e N 6
13.15-15.0 drinz. P. Piechota
TP 5 6
7.30-9.00 I_': 3 2
™ drinz. D. tuszkiewicz
9.15-11.00
~ TP 3 4
& iy
< [11.15-13.0
= TP 3 4
o TN
13.15-15.0 inz. E. 3
P drinz. E. Wréblewska 3 2
15.15-16.55 N
TP 3 4




CZERWIEC

DZIEN| GODZINA |TYDZIEN PROWADZACY
4 10| 11 |12 16| 17| 23| 25 | 26
TN D
+ |9.15-11.00 /0
P TP . . D/O
| drinz. P. Synowiec
= l11.15-13.0 L b/o
§ ' ' TP D/O
= TN D/O
13.15-15.0
o TP |drinz. P. Piechota D/O
17.05-18.45 TN D/O
i
°O= 9.15-11.00 U drinz. E. Wréblewska b/o
o TP D/O
= |11.15-13.000 TN |drinz. P. Piechota D/O
9.15-11.00 1': b/0 570
< = drinz. E. Wrdéblewska D/0
S l11.15-13.0
& TP D/O
TN D
13.15-15.0 drinz. P. Piechota /O
TP D/O
7.30-9.00 1': - D/© 5/0
™ drinz. D. tuszkiewicz D/0
o [9-15-11.00
i TP 6 D/O
% |11.15-13.00—~ D/©
= TP 6 D/O
N
TN D/O
© 113.15-15.0 —5—dr inz. E. Wréblewska - / 570
15.15-16.55 N i
TP 6 D/0




